

Euclid's GCD Algorithm

- an efficient way to find the $\text{GCD}(a,b)$
- uses theorem that:
 - $\text{GCD}(a,b) = \text{GCD}(b, a \bmod b)$
- **Euclid's Algorithm** to compute $\text{GCD}(a,b)$:
 - $A=a, B=b$
 - while $B>0$
 - $R = A \bmod B$
 - $A = B, B = R$
 - return A

Example GCD(1970,1066)

$$1970 = 1 \times 1066 + 904$$

$$\text{gcd}(1066, 904)$$

$$1066 = 1 \times 904 + 162$$

$$\text{gcd}(904, 162)$$

$$904 = 5 \times 162 + 94$$

$$\text{gcd}(162, 94)$$

$$162 = 1 \times 94 + 68$$

$$\text{gcd}(94, 68)$$

$$94 = 1 \times 68 + 26$$

$$\text{gcd}(68, 26)$$

$$68 = 2 \times 26 + 16$$

$$\text{gcd}(26, 16)$$

$$26 = 1 \times 16 + 10$$

$$\text{gcd}(16, 10)$$

$$16 = 1 \times 10 + 6$$

$$\text{gcd}(10, 6)$$

$$10 = 1 \times 6 + 4$$

$$\text{gcd}(6, 4)$$

$$6 = 1 \times 4 + 2$$

$$\text{gcd}(4, 2)$$

$$4 = 2 \times 2 + 0$$

$$\text{gcd}(2, 0)$$

Finding Inverses

- can extend Euclid's algorithm:

EXTENDED EUCLID(m, b)

1. $(A1, A2, A3) = (1, 0, m);$

$(B1, B2, B3) = (0, 1, b)$

2. **if** $B3 = 0$

return $A3 = \text{gcd}(m, b);$ no inverse

3. **if** $B3 = 1$

return $B3 = \text{gcd}(m, b); B2 = b^{-1} \text{ mod } m$

4. $Q = A3 \text{ div } B3$

5. $(T1, T2, T3) = (A1 - Q B1, A2 - Q B2, A3 - Q B3)$

6. $(A1, A2, A3) = (B1, B2, B3)$

7. $(B1, B2, B3) = (T1, T2, T3)$

8. **goto** 2

Inverse of 550 in GF(1759)

Q	A1	A2	A3	B1	B2	B3
—	1	0	1759	0	1	550
3	0	1	550	1	-3	109
5	1	-3	109	-5	16	5
21	-5	16	5	106	-339	4
1	106	-339	4	-111	355	1